الواجبات

الواجب الأول : 
Which of the following words does not have the sound shown on the picture?
Bean
Pink
Bead
Peak
2 - Which of the following words does not have the sound shown on the picture?
Bin
Bit
Peak
Bid
3 - Which of the following words does not have the sound shown on the picture?
Bell
Bed
Bean
Fed

الواجب الثاني : 
1. How many syllables, onsets, nuclei, and codas does the word “celebration” have?
4syllables, 4 onsets, 4 nuclei, 4 codas
4syllables, 4 onsets, 4 nuclei, two coda 
4syllables, 4 onsets, 3 nuclei, one coda
4syllables, 3 onsets, 3 nuclei, no coda

2-How many syllables, onsets, nuclei, and codas does the word /ku:lə/ have?
2(s),2(n),2(o),2(c)
2 (s), 2( o) , 2 (n) 
(2s), 2 (o), 1 (n), 1 (c
)2 (s), 1 (o), 1 (n),
3-Which word does this phonetic tran
trans cr ption
describe? /Ѳɔɜɔ /
Through
Thor
Throe
Thorough
الواجب الثالث : 
1. Which syllable is usually stressed in British English? 
toDAY
Today
tOday
tODay
2. Which syllable is usually stressed in British English? 
japanESE
Japanese
JaPAnese
JAPanese
3. Which syllable is usually stressed in British English? 
psyCHOlogy
PSYchology
psychoLOGY
Psychology
4. Which syllable is usually stressed in English? 
a REcord
A record
a record
a rECord
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